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	Chapter 7 Problem 7-2A


(a)
AFN COMPANY


Income Statement


For the Year Ended December 31


(Variable Costing)

	
	
	
	2005
	
	2006
	

	
	
	
	
	
	
	

	
	Sales



Variable expenses


Variable cost of goods sold



Inventory, January 1




Variable manufacturing



  costs




Cost of goods available



  for sale




Inventory, December 31




Variable cost of goods



  sold



Variable selling expenses




Total variable expenses


Contribution margin


Fixed expenses


Manufacturing overhead



Administrative




Total fixed expenses


Income from operations

	
	$6,000,000
         0

 xxx
 xxx

   300,000
   xxx,000

   xxx,000
 xxx
 4,500,000
 xxx

   xxx
xxx
$1,500,000
	 (1)

 (2)

 (3)
	$8,000,000
   xxx

   xxx
xxx

         0
 x,xxx,000

   xxx,000
xxx

 6,000,000
 xxx

   xxx
 xxx
$3,000,000
	 (4)

 (5)


	
	
	2005 Computations
	
	
	

	
	
	
	
	
	

	
	(1)

(2)

(3)
	x,000 X $2,000 X .1x

x,000 X $2,000 X .1x

x,000 X $2,000 X .1x
	
	
	

	
	
	
	
	
	

	
	
	2006 Computations
	
	
	

	
	
	
	
	
	

	
	(4)

(5)
	x,000 X $2,000 X .1x

x,000 X $2,000 X .1x
	
	
	


(b)
AFN COMPANY



Income Statement


For the Year Ended December 31


(Absorption Costing)

	
	
	
	2005
	
	2006
	

	
	
	
	
	
	
	

	
	Sales


Cost of goods sold


Inventory, January 1



Cost of goods manufactured



Cost of goods available for sale



Inventory, December 31



Cost of goods sold


Gross profit


Operating expenses


Selling expenses



Administrative expenses




Total operating expenses


Income from operations

	
	$6,000,000
         0

 xxx
 x,x00,000

   x00,000
 x,x00,000
 x,x00,000
  x00,000

   x00,000
 x,200,000
$2,100,000
	 (1)

 (2)
	$8,000,000
  xxx

 xxx
 x,x00,000

         0
 x,x00,000
 x,x00,000
   x00,000

   x00,000
 1,400,000
$2,400,000
	 (3)


	
	
	2005 Computations
	
	
	2006 Computations

	
	
	
	
	
	

	
	(1)

(2)
	4,000 X [($2,000 X .15) + ($2,400,000 ÷ 4,000)]

1,000 X [($2,000 X .15) + ($2,400,000 ÷ 4,000)]
	
	(3)
	3,000 X [($2,000 X .15) + ($2,400,000 ÷ 3,000)]


(c)
The variable costing and the absorption costing income from operations can be reconciled as follows:

	
	
	
	2005
	
	2006
	

	
	
	
	
	
	
	
	
	
	
	

	
	Variable costing income

Fixed manufacturing overhead

  expensed with variable costing

Less:  Fixed manufacturing overhead

  expensed with absorption costing

Difference

Absorption costing income
	
	$xxx

 (x,x00,000
	)(1)
	$xxx

  x00,000
$2,100,000
	
	$xxx

 (x,000,000
	)(2)
	$xxx

   (x00,000
$2,400,000
	)



(1)In 2005, with absorption costing $1,800,000 
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the fixed manufacturing overhead is expensed as part of cost of goods sold, and $x00,000 
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 is included in the ending inventory.


(2)In 2006, with absorption costing $3,000,000 of fixed manufacturing overhead is expensed as part of cost of goods sold. This includes the fixed manufacturing overhead for 2006 of $2,400,000 plus $600,000 of fixed manufacturing overhead from 2005 that was included in the beginning inventory for 2006.

(d)
Income parallels...
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